9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

O 7124|1583 |6
3 /5181716912411
6 (4 113|829 |57
4111912567 |8|3
5181611 7]1314]9 2
7121318194165
11914163 |7]|5]2 |8
816 5192|113 |7 /4
213 |715/4|8|6|1|9
8 121716435119
6 |1 312|598 4|7
4 1519171812316
5171819161324
119 613 |2 (4(7 |58
2 13 (4158|7196 |1
916 211|754 83
718 1514|3619 2
34 11892675
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